34

[ Fap(X) =b

F,p(X;)=achromatic receptor responses , W,  +W
X /a' _ 1O—><,/a’

10
10%/@ 4 107% /@ a=1,00, b=1,00, a'=aln(10)=2,302

F
process W 12

process +W +F; ,

m,=098  m,, =098

L =28cd/m?

3 PFarlx) =b

2

F,x(X,)=achromatic receptor responses , W, = +W
X fa _ lo—x, a

10

10%/2 4 107/  a=1,00, b=2,00, a’=aln(10)=2,302

process W

process +W +Fj

m, =197 = my, =197

L =28cd/n?

al

34

.Fab(xr) =b

4 x =log[L/L,]

p(X;)=achromatic receptor responses , W, = +W
la _ 107><,/a'

10%
10%/@ 4 107% /@ a=1,00, b=2,00, a'=aIn(10)=2,302

process W

process +W +F1 2

m,=1.97 ow=1:97
L L =28cd/m?

al
2 TFp(x)=b

24

. )
2 3 4 x=log[LiL,]

= i N +
p(Xr) achrom%tlg {ggfe/gtor responses , W, +W

10%
10%/2 4 107/  a=1,00, b=2,00, a’=aln(10)=2,302

process W

process +W +Fj

=197

m,=1,97
L

" L =28cd/n?

4 x =log[L/L,]

hex51-8a

4 x =log[L/L,]




